ROOMS TO G®

VENDOR CODE: GLOB

999-01T-1 TWIN SLEIGH BED HEADBOARD + 4 SLATS (SKU# 35709990)
999-01T-2 TWIN SLEIGH BED FOOTBOARD (SKU# 35809992)
999-01F-1 FULL SLEIGH BED HEADBOARD + 4 SLATS (SKU# 35909994)
999-01F-2 FULL SLEIGH BED FOOTBOARD (SKU# 36009997)

Manufactured for Rooms To Go Kids 999-01-3 TWIN / FULL SLEIGH BED SIDE RAILS (SKU# 36109999)

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

STEP1 \

u\ (0 *LOWER POSITION

*HIGHER POSITION

NO PARTS LIST QTY NO | QTY DRAWING | DESCRIPTION
A HEADBOARD 1 -

B FOOTBOARD 1 1 8 n # 8*1" Screw

C SIDE RAIL 2 T= Screwdriver is not included

D BED SLAT 4 in hardware pack

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMSTO G®

VENDOR CODE: GLOB
STYLE #: 999-01-4
SKU# : 36209991

e e DESCRIPTION : SLEIGH STORAGE TRUNDLE

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment
Please do not tighten parts until all are assembled.

Step-1
Take out the caster box
from top of carton window

Caster box

Step-2
Turn over the carton and open the BOTTOM,

then attach the casters to bottom of the
storage trundle by screws

Step-3
Take out the trundle from
carton then put up all panels to correct position.

Trundle storage

Attach all bolts and hardware

Z
o

QTY | DRAWING DESCRIPTION
WHEEL

#8+%5/8" SCREW
®1/4"*20*5/8" ALLEN BOLT
®1/4" LOCK WASHER
©¢1/4"*16MM *FLAT WASHER
¢1/4"ALLEN WRENCH NOTE:

ALLEN BOLT When using a storage trundle,

PARTITION please install the enclosed plastic corner protectors
PLASTIC CORNER PROTECTOR to protect the bed posts from dents and scratches.

# 4%15MM SCREW

Screwdriver is not included
in hardware pack

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1

[l -1 Bl Rl Res iR el vl N@ U ="




ROOMS TO G®

VENDOR CODE: GLOB

999-02T-1 TWIN POST BED HEADBOARD + 4 SLATS (SKU# 35109998)

999-02T-2 TWIN POST BED FOOTBOARD (SKU# 35209990)

999-02F-1 FULL POST BED HEADBOARD + 4 SLATS (SKU# 35309992)

999-02F-2 FULL POST BED FOOTBOARD (SKU# 35409994)
Manufactured for Rooms To Go Kids 999-02-3 TWIN / FULL POST BED SIDE RAILS (SKU# 35509996)

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

STEP1

UX 1

E\ j \OWER POSITION

*HIGHER POSITION

NO PARTS LIST QTY

A HEADBOARD 1 NO | QTY | DRAWING | DESCRIPTION
B FOOTBOARD 1 o

C SIDE RAIL 2 1 8 i # 8*1" Screw

D BED SLAT 4 2 Screwdriver is not included

E CRYSTAL FINIAL 4 in hardware pack

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMSTO G®

KIDS

Manufactured for Rooms To Go Kids

VENDOR CODE: GLOB

STYLE #: 999-21

SKU# : 35609998

DESCRIPTION : STORAGE TRUNDLE

Thank you for purchasing this
carefully for small parts which
Please do not tighten parts unt

quality product. Be sure to check all packing material
may have come loose inside the carton during shipment.
il all are assembled.

Step-1
Take out the caster box
from top of carton window

Step-2
Turn over the carton and open the BOTTO
then attach the casters to bottom of the

storage trundle by screws

Caster box

%

Carton

M,

Take out the trundle from
carton then put up all panels to correct position.

Trundle storage
N

DESCRIPTION

Z
o

WHEEL

# 8*5/8" SCREW

#1/4"*20*5/8" ALLEN BOLT

#1/4" LOCK WASHER

#1/4"*16MM *FLAT WASHER

#1/4"ALLEN WRENCH

ALLEN BOLT

NOTE:

PLASTIC CORNER PROTECTOR When using a storage trundle,

| X< |Tmmo|lOo|w| >
S

#4*15MM SCREW

Please install the enclosed plastic corner protectors

®
=
Qm
2 = PARTITION
=
Do
=3—

in hardware pack

Screwdriver is not included To protect the bed posts from dents and scratches

VERSION NO. 1 18/10/2021

MADE IN VIETNAM PAGE 1/1




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-12DR
SKU# : 39109992

Manufactured for Rooms To Go Kids DESCRIPTION : VANITY DESK

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

TIPPING
RESTRAINT HERE A9

A

7

S

NO | DRAWING | QTY DESCRIPTION

A @ 1| Tipping restraint NO [ PARTS LIST | DESCRIPTION | QTY

=1 fScrewdnver is not included 1 LEG APCS
in hardware pack P ——

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMS TO G®

KIDS

Manufactured for Rooms To Go Kids

VENDOR CODE: GLOB
STYLE #: 999-11
SKU# : 34509995
DESCRIPTION : HUTCH

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

NO | DRAWING DESCRIPTION QTY
A D)) $1/4"*20*3/4" ALLEN BOLT 4PCS
B ® ¢1/4" LOCK WASHER 4PCS
C $1/4"*19MM FLAT WASHER 4PCS
D — 4MM ALLEN WRENCH 1PC
E «ed METAL BRACKET 98*24*3 2PCS

VERSION NO. 1 18/10/2021 MADE IN VIETNAM

PAGE 1/1




ROOMSTO G®

VENDOR CODE: GLOB
STYLE #: 999-16
SKU# : 34909993

Manufactured for Rooms To Go Kids DESCRIPTION : FIVE DRAWER CHEST

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

STEP 2

Remove all wooden blocks from the bottom
of the case piece before assembling!

Wall STEP 4
TIPPING
RESTRAINT HERE.
NO | DRAWING | QTY DESCRIPTION
A (— 1 5mm Allen Wrench
PARTS LIST
B @ 1 Tipping restraint NO | DRAWING | QTY | DESCRIPTION
Screwdriver is not included
I=3— ij hardware pack 1 % 4 Leg

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMSTO G®

VENDOR CODE: GLOB
STYLE #:999-17D
SKU# : 37809994

Manufactured for Rooms To Go Kids DESCRIPTION : SIX DRAWER DRESSER

Thank you for purchasing this quality product. Be sureto check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

|

Remove all wooden blocks from the bottom
of the case piece before assembling!

STEP 4

TIPPING
o RESTRAINT HERE.

NO | DRAWING | QTY DESCRIPTION
=
A — 1 5mm Allen Wrench PARTS LIST
B @ 1 Tipping restraint NO | DRAWING | QTY | DESCRIPTION
Screwdriver is not included 1 % 4 L
=3 in hardware pack &

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-4
SKU# : 34709999

Monufactured for Roeoms To Go Kids DESCR'PT'ON . TWO DRAWER NlGHTSTAND

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

STEP 1

Remove all wooden blocks from the bottom
of the case piece before assembling!

STEP 4
TIPPING
o RESTRAINT HERE.
o
NO | DRAWING | QTY DESCRIPTION
A —— 1 5mm Allen Wrench PARTS LIST
B @ 1 Tipping restraint NO | DRAWING | QTY | DESCRIPTION
Screwdriver is not included Le
I=3— in hardware pack 1 % 4 9

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




" ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-4B
SKU# : 34809991

Maonufactured for Rooms To Go Kids DESCR|PT|ON . LEG N|GHTSTAND

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.

Please do not tighten parts until all are assembled.
A WARNING

CHOKING HAZARD -- Small Parts
This piece contains small parts, not
intended for children under 3 years of age.

TIPPING
RESTRAINT HERE.
A\
—N

NO | DRAWING | QTY DESCRIPTION

A @ 1 Tipping restraint

Screwdriver is not included
I=3— in hardware pack

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-10
SKU# : 35009996

Manufactured for Rooms To Go Kids DESCRIPTION : SLIM CHEST

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

STEP 1 STEP 2

Remove all wooden blocks from the bottom
of the case piece before assembling!

NO | DRAWING | QTY DESCRIPTION
A (o 1 5mm Allen Wrench PARTS LIST
B @ 1 Tipping restraint NO | DRAWING | Q'TY | DESCRIPTION
Screwdriver is not included Le
== in hardware pack 1 % 4 g

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMSTO G®

KIDS

Manufactured for Rooms To Go Kids

VENDOR CODE: GLOB

STYLE #: 999-21

SKU# : 35609998

DESCRIPTION : STORAGE TRUNDLE

Thank you for purchasing this
carefully for small parts which
Please do not tighten parts unt

quality product. Be sure to check all packing material
may have come loose inside the carton during shipment.
il all are assembled.

Step-1
Take out the caster box
from top of carton window

Step-2
Turn over the carton and open the BOTTO
then attach the casters to bottom of the

storage trundle by screws

Caster box

%

Carton

M,

Take out the trundle from
carton then put up all panels to correct position.

Trundle storage
N

DESCRIPTION

Z
o

WHEEL

# 8*5/8" SCREW

#1/4"*20*5/8" ALLEN BOLT

#1/4" LOCK WASHER

#1/4"*16MM *FLAT WASHER

#1/4"ALLEN WRENCH

ALLEN BOLT

NOTE:

PLASTIC CORNER PROTECTOR When using a storage trundle,

| X< |Tmmo|lOo|w| >
S

#4*15MM SCREW

Please install the enclosed plastic corner protectors

®
=
Qm
2 = PARTITION
=
Do
=3—

in hardware pack

Screwdriver is not included To protect the bed posts from dents and scratches

VERSION NO. 1 18/10/2021

MADE IN VIETNAM PAGE 1/1




" ROOMSTO G®

VENDOR CODE: GLOB
STYLE #: 999-22C
SKU# : 38609991

Manufactured for Rooms To Go Kids DESCRIPTION : CARRIAGE CHEST

Thank you for purchasing this quality product. Be sure to check al packing material
carefully for small parts which may have come loose inside the carton during shipment.

Please do not tighten parts until all are assembled.
A WARNING

CHOKING HAZARD -- Small Parts
This piece contains small parts, not
intended for children under 3 years of age.

Remove

Remove all wooden blocks from the bottom
of the case piece before assembling!

TIPPING

NO | DRAWING | Q'TY DESCRIPTION
A — 1 5mm Allen Wrench PARTS LIST
B @ 1 Tipping restraint NO | DRAWING | QTY | DESCRIPTION
Screwdriver is not included 1 % Le
== in hardware pack 4 g

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-5D
SKU# : 37909996

Manufactured for Rooms To Go Kids DESCRIPTION : EIGHT DRAWER DRESSER

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

Remove all wooden blocks from the bottom
of the case piece before assembling!

STEP 4

TIPPING
. RESTRAINT HERE.

NO | DRAWING | Q'TY DESCRIPTION
A — 1 5mm Allen Wrench PARTS LIST
@ 1 Tipping restraint NO | DRAWING | QTY | DESCRIPTION
Screwdriver is not included 1 % Le
=3 in hardware pack 4 g

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




' ROOMSTO G®

VENDOR CODE: GLOB
STYLE #: 999-6M
SKU# : 38509999

Manufactured for Reoms To Go Kids DESCRIPTION : HEART MIRROR

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

There are two options to assemble mirror: Option A to be mounted to the casegoods or
Option B to be hung on the wall.

NO |DRAWING|Q'TY DESCRIPTION
7PCS | ¢ 1/4"*20%1-1/2" Allen bolt

7PCS | ¢ 1/4" Lock Washer

7PCS | ¢ 1/4"*19*2mm Flat Washer
NO | DRAWING [Q'TY DESCRIPTION

1PC 4mm Allen Wrench

m | O[O|l®w|>

1| o~ | 1 |WOODENBRACKETONE

1PC Tipping restraint

2 \ 2 WOODEN BRACKET TWO =3 Screwdriver is not included

in hardware pack

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/2




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-6M
SKU# : 38509999

Monufactured for Rooms To Go Kids DESCRIPTION : HEART MIRROR

Thank you for purchasing this quality product. Be sure to check all packing material

carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

Opiton B To be hung on the wall

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 2/2




ROOMS TO G®

KIDS

Monufactured for Rooms To Go Kids

VENDOR CODE: GLOB

STYLE #: 999-18M

SKU# : 38409997

DESCRIPTION : OVAL MIRROR

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.

Please do not tighten parts until all are assembled.

There are two options to assemble mirror: Option A to be mounted to the casegoods or
Option B to be hung on the wall.

Option A To be mounted to the casegoods

NO DESCRIPTION

A ¢ 1/4"*20*1-1/2" Allen bolt
B ¢ 1/4" Lock Washer
C ¢ 1/4"*19*2mm Flat Washer
D 4mm Allen Wrench
NO | DRAWING |QTY DESCRIPTION £ @ tpc | Tipping restraint
1 / 1 WOODEN BRACKET Screwdriver is not included
=5 in hardware pack
VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/2




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-18M
SKU# : 38409997

Monufactured for Rooms To Go Kids DESCR'PT|ON . OVAL M|RROR

Thank you for purchasing this quality product. Be sure to check all packing material

carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

Opiton B To be hung on the wall

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 2/2




ROOMS TO G®

VENDOR CODE: GLOB
STYLE #: 999-23
SKU# : 36409995

Manufactured for Rooms To Go Kids DESCRIPTION : BOOKCASE

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during shipment.
Please do not tighten parts until all are assembled.

Childran hava died from
furniture tip-over. To reduce the
rigk of furfiture tip-ower:

« ALY S irstall lip-over resirainl
previdiid

+ NEVER put a TV an this product

« MEVER aliow chikiren 1o slard, dimb

ar fing an drawers, coors, or shefves
* NEVER tpen mora than ane
drawer 81 & e,
« PLACE haavias! ilems in the
oSt drawars
a This 15 a permanent iabel

'__7|:'| ol r|_.'.'r.l_,l|_.'l:-'

TIPPING
RESTRAINT HERE.

NO | DRAWING | QTY DESCRIPTION

A @ 1 Tipping restraint

Screwdriver is not included
I=3— in hardware pack

VERSION NO. 1 18/10/2021 MADE IN VIETNAM PAGE 1/1




	999- 01-04-BED
	999- 01T- 01
	999- 02T-02F- BED
	999- 21
	999-18M.pdf
	999-6M-18M Model (1)
	999-6M-18M Model (1)

	999-6M.pdf
	999-6M-18M Model (1)
	999-6M-18M Model (1)


